1. PODZEMNI PODLAZI

schéma je pouze orientacéni

orwbdp -

Sklad
Pradelna
Pradelna

Wellness
Chodba

L9 m?’
8.4 m?
125 m?
35,19 m?
8.5 m?

Celkem 69.49 m’




1. NADZEMNI PODLAZI schéma je pouze orientaéni

Terasa

1. Pokoj 14,96 m * 6. Kuchyn 8,73 m’
2. Satna 4,17 m? 7. Chodba 3.68 m”
3. Pokoj 14,63 m”’ 8. Koupelna 9.6m’
4. LoZnice 20,35 m’ 9. Schodiste 6.7m’
5. Obyvacip. 3275m2  10. Sklad 29m’

11. Zadveri 2.3 m?

Celkem 120.77 m’




2. NADZEMNI PODLAZI

or0Obdp -

schéma je pouze orientacéni

Pokoj
Pokoj
Pokoj
Kuchyn
Chodba

2
3
VA
18.33 m* 6. KoupelnaWC 9.6m°
18.33 m?2 7. Schodisté 6.7m°

35.7m?

2
3;22 : Celkem 129.62 m’




